Copyright 2016, Aleph Objects, Inc. CC BY-SA 4.0

95.0
¢ B o - »82.0 Bi
EPN R E——r
H 7o) - L .
< m < 4X R5.0
i b 2¢ 33,00
o n ™ s ° 12X 115.00 - -
o = 470 N ] 1330 o 1= 2X 9.00
© - > B . > .
< N 35.0 L = 12X 73.0 \
t‘\'l Y - Yvy ~<—>135.0 P | Y
© ) A o o i A
o —
i AN PR
365.00 S A ) 8
d ~
~ x
1 ( 6X ©3.5 THRU ) N
Y 2X FEX-M3 Inserts
o Y Q\‘ Install from other side
i ol
2X M3 X 0.5 THRU — S (Rev A)
@ 2X FEX-M3 Inserts 8
Install from this side o
o «
To]
m
9 12X @4.50 ! Install from other side
\ 8,00, ) > I o
o - \ J o
\ 4 S ~
o - 129.0 ~ >
5 \ v 3 P A “
< oo ) r?  /
Yy | Y pat o Y
A o} o A A 1 A
g pid o o 2
(R gty L; S phy
y (¢] o o 9 CRE > o .
Ao < = »—-a 2X 10.00 ~1
X N A - > 2X 51.00
2X 100.0 < 450 »{165.0
45.0 = > {45,
32.0 e ——132.0 Near and far sides
Notes: A 2X 15.5»+»r<«—1=2X 15.5 TA
1. Part must be RoHS compliant
2. Material: RoHS compliant 12 AWG (0.08") Aluminum SRAWN BY —
3. Break all sharp edges prior to powder coat b : '
. am 4/29/16 “ 626 West 66th Street
4, Mask. all threads prior to powqer coat. ATERIAL, AL E P H Loveland, Cglsorado 80?3%, USA
5. Part is to be powder coated with Cardinal color C241-BK109 See Notes <’ OBJELCTS R oot
Powder coat thickness must be between 0.05 and 0.12mm. INCORPORATED ' '

)]

Rev

IR

Date

8.17.16
7.14.16
4.29.16

. Ink mark in area indicated with the first initial of your company name

Notes

Coating thickness modified.

FEX-M3 inserts added to bottom plate for better EMI shielding
Initial release of freeCAD redraw

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS. | TTLE

TOLERANCES ARE: L
DECIMALS  ANGLES Bottom plate mini
XXe.25 _/ |SIZE DWG NO. REV.
Aoz A PP-MP0149_revB B
BREAK EDGES 0.1/0.5
FILLET RaDIUs 0.105  SCALE -3 | DO NOT SCALE DRAWING SHEET 1 of 2



